160 2000 2000 TRKC-MBS285-C20  TRKC-MBS285-W20  TRKC-MBS285-PL20 TRKC—-MBS285-E20
‘ FEL - L(040) ‘ ¥EBITHIAA LR E A
1% JSHBE 034x13.2 (50) (20) (50) (°0)
/ fi |
(@) 7 (@) . (@) ] (@) . (@)
| & © © § 2 © Q2 | 3
" $60.5x13.2 . |
GL 3 6L oL |! GL 93t 6L
Z\XZ\ - g' - T 7R Z\N § L(CD_)
%E® (1/10) | = IS Dﬂ‘ =
- [sime 934x13.2 BAfA L b MT2x 50
8 ] g Fy b7vh- M12 o
0300 (FyLEe18%X55mm) S
I I _
/ RN (1/3)
Ty Vv = 8 ) .
%;“ Jafyhha- {y+=-JaAv} il
7 (9408) / £2.3
AARAMA W b R )
M10x 115 3 == 77— o 2% e " e
_ E———— ) S ElE STK400 | oo = tHENAEE
3 — FBC-L  |STK490+PE| ®n»- = 1HERE
R 48KC(E-T) 28] 71 34% BEE
48KC28 - £Y¥-9Y34y+|SCH400MS | BRABHS- XM
560 5% (3.2 M8X 25++ } + S IR 71162 mft 2%
N sy by 5 RERH AN+ SUS MBX 25++ v +
FRBI3AY A= 5y VIR SUS P4x 15
7 - (940m) ETEEY] 7 iA% BATE%
R-2Tv- b EBR (1/10) | (Y+-934} F@yaAv i PC Fun—ma—t
B | \, /123 RARF AW b SUS M8x 25
s m e 7 = Iy yv- | SUS
(@)} _— — g | _ Y. N
ﬁ 24 = —— 7 T 2 RERHIAD § SUS MI0X 115 + HFy ¢
. = e = ) Fy k7R FRERD>E M2
oy b7yh- M12 % R Wiint | 4685 | EREBboE MI2x 30
(FuLEe18%E55mm) 5 o N NG R
1 @ AN AN RN
4-922 /Q 8| 8 M8x 25
50 4/ | @ - a NATAA L b
25 ‘100‘ 25 3848 M8x 25+ v +
150




